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Answers with Explanation

RRB NTPC (CBT-2) Practice Set

1. (d)
1

a 3
a
  

 
3

31
a 3

a
    
 

3
3

1 1 1
a 3.a. a 3 3

a a a
      
 

 3
3

1
a 3 3 3 3

a
    

3
3

1
a 3 3 3 3

a
   

3
3

1
a 0

a
  

2. (c) ‡˜c = ¦þîû/xyëû“þ˜– îœ = ¦þîû × cîû’– ¦þîûöìî† = ¦þîû
× öî†

3. (b) 396 – 39.6 – 3.96 – 0.396 = 396 – 43.956 =
352.044

4. (c) ›y”%îûy£z !Šéœ þ™y[þÄöì”îû îûy‹•y˜#Ð „þyO#þ™%îû› !Šéœ þ™ÍÔîöì”îû
îûy‹•y˜#Ð

5. (c) ö¢ïîûþ™Äyöì̃ öìœ !¢!œ„þ˜ îÄî£*“þ £ëûÐ
6. (b) ¦þîû (M) = m, öî† (v) = 5ms–1

†!“þŸ!_«–
1

2
Mv2 = 25

m = 2 kg
~…˜– öî† (v) = 5 × 2 = 10 ms–1

 †!“þŸ!_« =
1

2
 × 2 × (10)2 = 100J

7. (a) 8sec2x – 7tan2x = 11
sec2x + 7sec2x – 7tan2x = 11
sec2x + 7(sec2x – tan2x) = 11
sec2x = 11 – 7 = 4
secx = 2 = sec60°
 x = 60°

8. (a)
9. (d) ¦þyîûöì“þîû ²Ìí› £zvþzöìîû!˜ëûy› …!˜ ‹y”%=”y Gþyvþü…öì[þ xî!ßþi“þÐ

10. (c) 6, 18, 54, 162, 486

×3 ×3 ×3 ×3
11. (d) ¦þîûöìîöì†îû ¢‚îûÇþ’ !²Ì!ªþ™yöìœîû çþ™îû ›£y„þyöìŸ ~„þ!Ýþ îûöì„þÝþ

„þy‹ „þöìîûÐ
12. (b) „þÄy!îöì̃ Ýþ !›Ÿ˜ ²ÕÄy˜ myîûy 1946 ¢yöìœ †!àþ“þ „þ˜!ÞÝþ!ÝþvþzÝþ

xÄyöì¢Áº!œîû …¢vþüy „þ!›!Ýþ myîûy ¦þyîûöì“þîû ¢‚!î•y˜ îû!‰þ“þ
£öìëû!ŠéœÐ ~£z …¢vþüy „þ!›!Ýþîû ö‰þëûyîû›Äy˜ !Šéöìœ˜ vþƒ !î
xyöìÁº”„þîûÐ 1946 ¢yöìœ !›Ÿ˜ ²ÕÄy˜ †!àþ“þ £öìëû!Šéœ– ëyîû

!“þ˜‹˜ ¢”¢Ä !Šéöìœ˜Ð !“þ˜‹˜ ¢”¢Ä þ™Äy!ÝþÆ„þ œöìîûª–
ÞÝþÄyöìšþyvÅþ !e«þ™¢ ~î‚ ~ !¦þ xyöìœ„þ‹yuþyîûÐ

13. (d)
14. (b) 180 – 20 ÷ 12 + 24 × 5 + 22

= 180 ÷ 20 + 12 × 24 – 5 × 22
= 9 + 288 – 110 = 297 – 110 = 187

15. (d) cosec2 – cot2 = 1
(cosec + cot)(cosec – cot) = 1
2.5(cosec – cot) = 1

cosec – cot
10 2

0.4
2.5 5
  

  cosec + cot = 2.5
+ cosec – cot = 0.4
  ––––––––––––––––––
  2cosec       = 2.9

cosec
2.9

1.45
2

 

16. (a) 11 5 5 14 16 5 1 12
K E E N P E A L
P V V M K V Z O
16 22 22 13 11 22 26 15

17. (b) ¢îÅy!•„þ ˜›˜#ëû •y“%þ £œ ö¢y˜yÐ
18. (d) 23:60 – 8:30 = 15:30 = 3:30
19. (d) 2020 ~„þ!Ýþ x!•î¡ìÅ xíÅyê öšþîÊ&ëûy!îû = 29 !”˜

2019 = 2000 + 19
2000 19

400 4
 

= 0 + 19 + 4

21 ›y‰Åþ 2020 = 0 + 19 + 4 + 3 + 1 + 0 =
27

7
= 6 Sxî!ŸÜTV
 21 ›y‰Åþ 2020 Ÿ!˜îyîû

20. (b)
21. (a) ‹y“þ#ëû öþ™˜Ÿ˜ ²Ì„þÒöì“þ öëy† ö”îyîû ¢öìîÅyF‰þ îëû¢ £œ

65Ð
22. (a) îy!„þ=!œ þ™Ö– ö„þîœ›ye vþzÝþþ™y!… ~„þ•îûöì̃ îû þ™y!…Ð
23. (c) •!îû– e«ëû›)œÄ = 100 Ýþy„þy– œy¦þ = 17 Ýþy„þy– !îe«ëû›)œÄ

= 100 + 17 = 117 Ýþy„þy

 ‹%öì“þyîû e«ëû›)œÄ =
100

117
 × 2223 = 1,900 Ýþy„þy

24. (d) 18 – 16 = 2 ö¢öì„þöìuþ öÝþÆ̃  ëyëû = 195 – 155 = 40
!›Ýþyîû

1 ö¢öì„þöìuþ öÝþÆ̃  ëyëû
40

2
= 20 !›Ýþyîû/ö¢öì„þuþ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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 öÝþÆöì̃ îû †!“þ = 20 !›Ýþyîû/ö¢öì„þuþ
18

5


             = 72 !„þ!›/‡ ù̂Ýþy
25. (b) 12 ‹˜ îÄ!_«îû ößþñyîû þ™öìëûrÝþ öŠéyÝþ öíöì„þ îvþü !£¢yöìî

¢y‹yöìœ þ™y£z 6, 8, 9, 9, 10, 11, 12, 15, 16, 16,
17, 21

 !˜öì’Åëû ›•Ä›y
11 12 23

11.5
2 2


  

26. (b)

17 15 13 11

–2 –2 –2

Q – 10, 0 – 12, M – 14,

+2 +2 +2

K – 16

27. (d) ŸyÍñy
 
›yí%îûy  ›yí%îûyîû ¦þy£z  ›yí%îûyîû ¦þy£zöìëûîû öîy˜
 ›yí%îûy £œ ŸyÍñyîû ö›öìëûÐ

28. (c) [(1 + 2 + 3 + 4) × (1 + 2 + 3 + 4) + 8 = (10
× 10) + 8 = 108

29. (b) ö†yœ„,þ!› £œ xÄyßþñy!îûöì¢îû ¢y•yîû’ ˜y›Ð
!šþ“þy„,þ!› £œ öÝþþ™çëûyöì›Åîû ¢y•yîû’ ˜y›Ð

30. (c) ÷˜!˜“þyœ !Gþœ vþz_îûy…öì[þ xî!ßþi“þÐ

31. (d)  ö…œ˜y!Ýþîû !îe«ëû›)œÄ =
84

100
 × 1125 = 945 Ýþy„þy

32. (b) A
33. (c) îûy‹ + ²Ì#“þöì›îû ›y

²Ì#“þ›  ²Ì#“þöì›îû öîy˜
îûy‹ ²Ì#“þöì›îû ›yöìëûîû ßþºy›# ~î‚ ²Ì#“þöì›îû îyîy

34. (b) !£›y‰þœ ²Ìöì”öìŸîû ²Ì•y˜ îûy‹•y˜# £œ !¢›œy ~î‚ !m“þ#ëû
îûy‹•y˜# £œ •›ÅŸyœyÐ

35. (b)
36. (c) cos3x = 4cos3x – 3cosx

•!îû– x = 45°
cos3 × 45° = 4cos345° – 3cos45°

cos135° =

3
1 1

4 3
2 2

    
 

cos135°
2 3 1

2 2 2
   

sec135° 2   = –cosec45°
37. (b) !˜öì’Åëû œ¢y= = 38

57
114

38. (c) 1 öíöì„þ 17“þ› ö×!’öì“þ íy„þy ö›ïœ=!œöì„þ ßþºy¦þy!î„þ ö›ïœ
îœy £ëûÐ

39. (a)
CB,   FE,   IH,   LK
32     65     98    1211

+3 +3 +3

+3 +3 +3

40. (c) !mî#‹þ™e# vþz!qöì”îû ~„þ!Ýþ ¢y•yîû’ ¼*’ ö„þyöì¡ìîû ›öì•Ä
!˜vþz!„Ïþëûyöì¢îû !î˜Äy¢ £œ 3 + 2 + 3

41. (a) Y ~îû !þ™“þy

Y+ R+ + V–

 R £œ V ~îû ßþºy›#Ð
42. (a) ~„þ!Ýþ ¢›yhsþîûyœ ¢y!„ÅþöìÝþ !î”%Äê ²Ìîyöì£îû ‹˜Ä ~„þy!•„þ þ™í

îûöìëûöìŠéÐ
43. (d) xÄyœ%!›!˜ëûy› x:y£zöìvþîû xy’!î„þ ¢)e £œ Al

2
O

3
Ð

44. (d) îûîyÝÅþ ý„þ 1665 !…ÊÞÝþyöì· ²Ìí›îyîû ö„þy¡ì xy!îÜñyîû „þöìîû̃ Ð
îûîyÝÅþ îÊyvþzÝþ 1831 !…ÊÞÝþyöì· ö„þyöì¡ìîû !˜vþz!„Ïþëûy¢ xy!îÜñyîû
„þöìîû̃ Ð
ößþÔ£zöìvþ˜ ~î‚ ö¢yëûy˜ 1838 !…ÊÞÝþyöì· ç 1839 !…ÊÞÝþyöì·
ö„þy¡ì“þ_́ ²Ì„þyŸ „þöìîû̃ Ð

45. (d)
P  32  S,    Q  16  R,    R  8  Q,    S  4  P

16 19 17 18 18 17 19 16

+1 +1 +1–1 –1 –1

÷2 ÷2 ÷2

46. (c) 0.0361x 1.9

.1900 x 1.9

x 10

x 100




47. (d)
48. (d) ö„þyœ¦þy £œ ”!Çþ’ ö†yëûyîû ÷¢„þ“þ=!œîû ›öì•Ä ²Ìy‰þ#˜“þ›–

î,£_› ~î‚ ¢îöì‰þöìëû ”ŸÅ̃ #ëû ¢›%o ÷¢„þ“þÐ
49. (d) îœ ~î‚ ç‹˜ ö¦þï“þîûy!Ÿ ‹%!Ýþîû ~„þ„þ ~„þ£z £ëûÐ CGS

þ™kþ!“þöì“þ ~öì”îû ~„þ„þ vþy£z̃  ~î‚ SI þ™kþ!“þöì“þ ~öì”îû
~„þ„þ !˜vþzÝþ˜ £ëûÐ

50. (d) öë öŠéyÝþ ¦þy†!Ýþ öþ™öìëûöìŠé “þyîû þ™!îû›y’ £œéôôôé

12 12
1330 1330 456

12 23 35
    


 Ýþy„þy

51. (a) ¢!àþ„þ ”þ™Å’ ¢)e îy !›îûîû šþ›%Åœy £œ
1 1 1

r v u
 

52. (c)
4, 9, 20, 43, 90, 185

×2+1 ×2+2 ×2+3 ×2+4 ×2+5

53. (d) M O N K E Y

X D J M N L

T I G E R

Q D F H S

54. (c)  xþ™îû ¢‚…Äy!Ýþ £œ
3 1 18 7 11

7 6 42 42


   

55. (b) îûy!˜ îûy›þ™yœ £öìœ˜ ¦þyîû“þ#ëû £!„þ ›!£œy ”öìœîû x!•˜yëû„þÐ
56. (c) „þyþ™% ¢‚îûÇþ’ !îœ xõÉþ²Ìöì”öìŸîû ¢öìD ¢Á™!„Åþ“þÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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57. (c) îû‚öìþ™y Ÿ£îû !¢!„þöì› xî!ßþi“þÐ
58. (d) ‰¤þyöì” ~„þ!Ýþ îlßþîû ç‹˜ þ™,!íî#öì“þ “þyîû ç‹öì̃ îû 1/6 ¦þy†

£öìîÐ
59. (d)
60. (c) ~„þ!Ýþ îlßþîû †!“þöì„þ ¢›†!“þ îœy £ëû ë…˜ “þyîû öî† £ëû

•Ê&î„þÐ

61. (a)       22
9 6 2 9 6 2 9 6 2   

81 72 9 3   
62. (c)  ‡!vþüîû ‡ ù̂Ýþyîû „¤þyÝþy ç !›!˜öìÝþîû „¤þyÝþy öë!Ýþ Ç%þo“þîû ö„þy˜!Ýþ

÷“þ!îû „þöìîû– “þyîû ›yþ™ £œ = ‡ ù̂Ýþyîû „¤þyÝþy × 30 – !›!˜öìÝþîû

„¤þyÝþy ×
11

2

= 3 × 30 – 3 ×
11

2
 = 90 –

33

2
 = 90 – 16.50

= 73.50°
63. (d) !¢öì̃ ›y öÇþöìe ö×Ûþcöì„þ þ™%îûßþ,ñ“þ „þîûyîû ‹˜Ä ¢Á¿y˜#ëû xßþñyîû

þ™%îûßþñyîû ö”çëûy £öìëû íyöì„þÐ
64. (a) ~„þ£z ö›ïöìœîû xy£zöì¢yöìÝþyþ™ ~îû ~„þ£z îûy¢yëû!˜„þ •›Å íyöì„þ

!„þlsþ þ™yîû›y’!î„þ ¦þîû !¦þ§¬Ð ”%!Ýþ ö›ïöìœîû ö²ÌyÝþ˜ ¢‚…Äy
¢›y˜ £öìœ “þyîûy ~öì„þ xþ™öìîûîû xy£zöì¢yöìÝþyþ™ £öìëû íyöì„þÐ
~„þ!Ýþ ö›ïöìœîû !î!¦þ§¬ îû*þ™öì„þ îýîû*þ™“þy îy xÄyöìœyöìÝþÆyþ™
îœy £ëûÐ öë›˜ „þyîÅöì̃ îû îû*þ™öì¦þ” £#îûy– @ùÌyšþy£zÝþ ²Ì¦,þ!“þÐ
x!:öì‹öì̃ îû îû*þ™öì¦þ” £œ ç‹˜Ð ”%!Ýþ ö›ïöìœîû ¦þîû¢‚…Äy
¢›y˜ £öìœ “þyîûy ~öì„þ xþ™öìîûîû xy£zöì¢yîyîû £ëûÐ

65. (d)  ö¢ öþ™öìëûöìŠé
82

650 533
100

  

66. (d)
!îõþÄy¢Oëû

¢Oëû þ™!Øþ›!”öì„þ £¤yÝþ!ŠéœÐ
67. (c) vþz!qöì”îû ›öì•Ä ›Äy†öì̃ !Ÿëûy› (Mg) þ™yçëûy ëyëûÐ
68. (a) {Ù»îû‰þw !î”Äy¢y†îû 1856 ¢yöìœ !îÊ!ÝþŸ ¢îû„þyîû myîûy !î•îy

!îîy£ xy£z̃ ²Ìî“Åþ˜ „þîûy˜Ð !î•îy !îîy£ xy£z̃  þ™yöìŸîû
vþzöì”Äy†Ä @ùÌ£’ „þöìîû!Šéöìœ˜ œvÅþ vþyœöì£ï!¢ ~î‚ œvÅþ „þÄy!˜‚
~îû ¢›ëû !î•îy !îîy£ xy£z̃  þ™yŸ £ëûÐ

69. (a) V

–  ++ xz+

x £öìî z ~îû ‹y›y£zîyî%Ð
70. (d) sec2 – tan2 = 1

(sec – tan(sec + tan = 1

sec – tan 
1

x
  sec + tan = x]

sec + tan = x

 2sec
21 1 x

x
x x


  

 sec
 21 x

2x




71. (a) ˜ÄyŸ˜yœ £y£zçöìëû šþîû £zöìœ„þ!ÝþÆ„þ ö¦þ!£„þÄyöìœîû “þîûšþ öíöì„þ
£!îûëûy˜yîû =îû&@ùÌyöì› ßþiyþ™˜ „þîûy £œ ¦þyîûöì“þîû î,£_›
£zöìœ„þ!ÝþÆ„þ ëy˜îy£˜ ‰þy!‹Å‚ öÞÝþŸ˜Ð

72. (a) ¢Á±!“þ ²Ìëûy“þ ˜,“þÄ!ŸÒ# !›öìœ˜y ¢yœ!î!˜ „þíy„þ!œ ˜,öì“þÄîû
‹˜Ä !î…Äy“þ !Šéöìœ˜Ð !“þ!˜ 2019 ¢yöìœ þ™p×# œy¦þ
„þöìîû!Šéöìœ˜Ð

73. (a)
BC

BC
 = sinB ~î‚

CD

CA
= sinA

= sin (90° – B) = cos B.

sin2B + cos2B = 1
2 2

2 2

CD CD
1

BC CA
  

2 2 2

1 1 1

CD BC CA
  

74. (c) BDC = BAC = 50° S~„þ£z î,_y‚öìŸ ÷“þ!îû ö„þy’V
BCD = 180° –  (60° + 50°) = 70°

75. (b) E þ™’Ä îyŠéy£z„þyîû# !ŸÖîû ¢‚…Äy
70

36230 25361
100

    
 

76. (d) ¢›hßþ þ™’Ä îyŠéy£z„þyîû# ›!£œyîû ¢‚…Äy

25 35 55
46280 45540 32240

100 100 100
     
     
     
     

50 20 40
60430 36230 53990

100 100 100
     
     
     
     

= (11570 + 15939 + 17732 + 30215 + 7246
+ 21596)
= 104298

!˜öì’Åëû †vþü ¢‚…Äy 104298
17383

6
 

77. (c) !˜öì’Åëû x˜%þ™y“þ
25 50

46280 : 60430
100 100

        
   

11570 2314
2314 : 6043

30215 6043
  

78. (a) C þ™’Ä îyŠéy£z„þyîû# !ŸÖîû ¢‚…Äy
20

32240 6448
100

    
 

B þ™’Ä îyŠéy£z„þyîû# !ŸÖîû ¢‚…Äy
40

45540 18216
100

    
 

!˜öì’Åëû %
6448

100 %
18216
   
 

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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35.39% 35.40% 
79. (d) F þ™’Ä îyŠéy£z„þyîû# þ™%îû&öì¡ìîû ¢‚…Äy

40
53990 21596

100
    
 

¢›hßþ þ™’Ä îyŠéy£z„þyîû# ö›yÝþ ¢‚…Äy
= (46280 + 45540 + 32240 + 60430 + 36230
+ 53990) = 274710

!˜öì’Åëû %
21596

100 %
274710
   
 

7.86% 8%  ²Ìyëû
80. (a) !¢!œëûy!îû î!vþ öœöìªîû öœy„þyœ ÷”‡ÅÄöì„þ ¢y›O¢Ä „þîûöì“þ

ö‰þyöì…îû ¢y£yëÄ „þöìîûÐ
81. (a) ¦þyîû“þ#ëû !e«öì„þÝþyîû öîyvÅþ xšþ „þöìrÝþÆyöìœîû S!î!¢!¢xy£zV ²Ì•y˜

”šþ“þîû ›%Áºy£zöìëû xî!ßþi“þÐ !î!¢!¢xy£zöìëûîû î“Åþ›y˜ ¢¦þyþ™!“þ
£öìœ˜ ö¢ïîû¦þ †yD%!œÐ

82. (c) 2016 ¢yœ ~„þ!Ýþ x•Åî¡ìÅ ¢%“þîûy‚ ö›yÝþ !”˜¢‚…Äy = 366

 ¢®y£
366

52
7

   ¢®y£ ~î‚ 2 xî!ŸÜT íyöì„þ

xíÅyê 2016 ¢yöìœ ö›yÝþ 52 ¢®y£ ~î‚ 2 !”˜ !ŠéœÐ
 P = 2

83. (d)

B 2,    K 12,   T 72, C 432
2 11 20 3

×6 ×6 ×6

+9 +9 +9

84. (c) (–18)[36 ÷ {7 – (–2)}] ÷ (–4){19 – (–3) × (–
5)}
= (–18)[36 ÷ {7 + 2)}] ÷ (–4){19 – 15}
= (–18)[36 ÷ 9] ÷ (–4)(4)
= (–18)4 ÷ (–16)
= (–72) ÷ (–16)

72 9
4.5

16 2
  

85. (d) Z 26,

–2
X 24, V 22, T 20

–2 –2

–2 –2 –2

86. (a) þ™yîû›y’!î„þ îÄy¢y•Å ˜Äyöì̃ y!›Ýþyöìîû ›yþ™y £ëûÐ
87. (a) !œ!íëûy› (Li) £œ ¢îöì‰þöìëû îvþü þ™îû›y’%Ð

88. (d)
2

2

1
a 7

a
 

2
1 1

a 2.a. 7
a a

    
 

2
1

a 7 2
a

    
 

1
a 9 3

a
   

 
3

31
a 3

a
   
 

3
3

1 1 1
a 3.a. a 27

a a a
     
 

3
3

1
a 3 3 27

a
   

3
3

1
a 27 9 18

a
    

89. (c) ¢šþÝþ !vÈþ‚öì„þ íyöì„þ „þyöìîÅy!˜„þ xÄy!¢vþÐ
90. (c) ¢‚…Äy=!œöì„þ öŠéyÝþ öíöì„þ îvþü !£¢yöìî ¢y!‹öìëû þ™y£z = 12,

12, 13, 14, 16, 18

 !˜öì’Åëû !›!vþëû̃  S›•Ä›yV
14 13

13.5
2


 

91. (c)
1

tan 3 2, cot
3 2

    


 
  

1 3 2

3 2 3 2




 

   
2 2

3 2 3 2
2 3

3 43 2

 
   



   tan cot 3 2 2 3      

3 2 2 3 2 3    
92. (a) „þþ™yîû ¢yœöìšþÝþ oîöì’ !‹Bþ öëy† „þîûy £öìœ “þy›y ßþiy˜‰%þÄ“þ

£ëûÐ

93. (c)

X 24 C, V 22 E, R 20 G, R 18 I
24 3 22 5 20 7 18 9

+2 +2 +2
–2 –2 –2

–2 –2 –2

94. (a) ASSOCHAM ~îû þ™%öìîûy ˜y› £œ xÄyöì¢y!¢öìëûöìÝþvþ ö‰þÁºy¢Å
xšþ „þ›y¢Å xÄyuþ £zuþy!ßþTÉÐ 1920 ¢yöìœ ~!Ýþ ²Ì!“þ!Ûþ“þ ~î‚
~îû î“Åþ›y˜ ö‰þëûyîû›Äy˜ £öìœ˜ !î˜#“þ x@ùÌîyœÐ

95. (a) 32, 64, 256, 1536, 12288, 122880, 1474560

×2 ×4 ×6 ×8 ×10 ×12
96. (a) ~„þ!Ýþ ~!vþöìþ™y¢ “þlsþ– cöì„þîû “þœöì”Ÿ ç xyhsþ xöìDîû ›•Äî“Åþ#

ßþiyöì̃  †!àþ“þ £ëûÐ
97. (b) 38% = 133

100% =
133

38
× 100 = 350

98. (a) þ™!îûþ™Eþ Öe«y’% öÝþ!ÞÝþöì¢ vþzêþ™y!”“þ £ëûÐ
99. (a) (–12)[11 + {7 × (–3)}] ÷ [4{13 – (–3) ×

(–6)}]

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



5Achievers
= (–12)[11 – 21] ÷ [4{13 – 18}]
= (–12)[–10] ÷ [4 × (–5)]
= 120 ÷ [–20] = – 6

100. (d) 1 KWH = 3.6 × 106 ‹%œ
101. (a) ö²Ìyöìþ™˜ †Äy¢ ~„þ!Ýþ xyöìœy!„þ“þ †Äy¢ !£¢yöìî îÄî£*“þ £ëûÐ

îûy§¬yîû †Äyöì¢ ö²Ìyöìþ™˜– !îvþzöìÝþ˜ ~î‚ xy£zöì¢y!îvþzöìÝþ˜ þ™yçëûy
ëyëûÐ

102. (b) 1, 3, 6, 10, 15, 21, 28

+2 +3 +4 +5 +6 +7

103. (d) G
7

27–7
20

E
5

27–5
22

L
12

27–12
15

K
11

27–11
16

I
9

27–9
18

T
20

27–20
7

E
5

27–5
22

104. (b) QUIZ = 17 + 21 + 9 + 26 = 73
JOCK = 10 + 15 + 3 + 11 = 39
FUJI = 6 + 21 + 10 + 9 = 46

105. (d) x ~îû !˜öì’Åëû ›y˜ = 9900

106. (a)

îÄy† çëûyöìœÝþ ÝþÆ!œ

 (i) ç (ii) ö„þyöì̃ y!Ýþ£z x˜%¢îû’ „þöìîû ˜yÐ
107. (a) ²Ì„þîû’ £œ ¢î„þ!Ýþ !î„þÒÐ
108. (a) abaabaabaaba

 x˜%þ™!ßþi“þ Ÿ·!Ýþ £œ baaa
109. (a) ¦þyîûöì“þîû ²Ì•y˜ xíÅ÷ì˜!“þ„þ vþzþ™öì”ÜTy !£¢yöìî x˜hsþ

˜yöì†Ù»îû’öì„þ !˜ë%_« „þîûy £œÐ
110. (b) 'The $10 Trillion Dream' î£z!Ýþîû öœ…„þ £öìœ˜ ¢%¦þy¡ì

‰þw ††ÅÐ
111. (d) îy‚œyöì”öìŸîû ‘þy„þyîû ö›yhßþyšþy „þy›yœ öÞÝþ!vþëûyöì› ¦þyîû“þ#ëû

›!£œy ”œöì„þ þ™îûy!‹“þ „þöìîû 2021 ¢yöìœîû ¢yšþ x˜)•¹Åéôé19
çöì›ª š%þÝþîœ ‰þÄy!Á™ëû̃ !Ÿöìþ™ ‰þÄy!Á™ëû̃  £œ îy‚œyöì”ŸÐ

112. (c) •!îû “,þ“þ#ëû ˜œ!Ýþ x !›!˜öìÝþ ¦þ!“Åþ ö‰þïîyF‰þyöì„þ …y!œ „þöìîû
ö”ëûÐ “þy£öìœéôôôé

1 1 1 1 1
6 16.5 0

15 18 15 18 x
           
   

11 181.5 16.5

15 90 x
  

(66 181.5) 16.5 16.5 90
x 6

90 x 247.5

 
    

¢%“þîûy‚– “,þ“þ#ëû ˜œ 6 !›!˜öìÝþ ¦þ!“Åþ ö‰þïîyF‰þy!Ýþöì„þ …y!œ „þöìîû
ö”öìîÐ

113. (b) •!îû– ö›yÝþ öœy„þ ¢‚…Äy = x
öî!Ÿ ¦þy†– öî!Ÿ öœy„þ S¢›y˜%þ™y“þV
öî!Ÿ !”˜– „þ› öœy„þ SîÄyhßþy˜%þ™y“þV

¦þy†

!”˜

1
2

: 2
3

25 : 20
:: 20 : x

1 2 800 3
25 x 20 20 x 32

3 3 3 25
         

˜“%þ˜ !˜ë%_« öœyöì„þîû ¢‚…Äy = (32 – 20) = 12
114. (d) M !›!˜öìÝþ ÷“þ!îû £ëû = J!Ýþ !‹!˜¢

1 !›!˜öìÝþ ÷“þ!îû £ëû =
J

M
!Ýþ !‹!˜¢

2

3
‡ ù̂Ýþy xíÅyê

2
60

3
  
 

 !›!˜Ýþ = 40 !›!˜öìÝþ ÷“þ!îû £öìî

=
40J

M
!Ýþ !‹!˜¢

115. (c) !¢vþ!˜ þ™ëûÝþyîû ²Ìí› „,þ¡ŒyD !£¢yöìî 2001 ¢yöìœ ö¢îûy
x!¦þöì̃ “þy !£¢yöìî xßþñyîû þ™%îûßþñyîû œy¦þ „þöìîû̃ Ð

116. (c) ö“þöìœDy˜yîû î˜ ”®öìîûîû “þîûšþ öíöì„þ òxyîÅy˜ šþöìîûÞÝþ þ™y„Åþó
˜y›„þ ö›yîy£zœ xÄyþ™ ‰þyœ% „þîûœÐ

117. (a) ¦þyîûöì“þîû ²Ìí› ‰þœ›y˜ ›•% ²Ì!e«ëûy„þîû’ ¦þÄy˜ ¢)‰þ˜y „þîûy £œ
vþz_îû²Ìöì”öìŸîû †y!‹ëûyîyöì”Ð …y!” ~î‚ !¦þöìœ‹ £zuþy!ßþTÉ
„þ!›Ÿöì̃ îû “þîûšþ öíöì„þ ~îû ¢)‰þ˜y „þîûy £œÐ

118. (b) £zöì̈ yöì̃ !Ÿëûyîû ˜“%þ˜ îûy‹•y˜# £œ ˜%¢yhsþyîûyÐ
119. (a) ›öì̃  „þ!îû ²Ì!“þ!Ýþ ö‰þëûyöìîûîû †vþü ›)œÄ = x Ýþy„þy

“þy£öìœ 13!Ýþ ö‰þëûyöìîûîû ö›yÝþ ›)œÄ = (13x) Ýþy„þy
5!Ýþ öÝþ!îöìœîû ö›yÝþ ›)œÄ = (1227 × 5) = 6135 Ýþy„þy
 6135 + 13x = 8280  13x = (8280 – 6135)

 13x = 2145  x =
2145

13
= 165

x“þ~î– ²Ì!“þ!Ýþ ö‰þëûyöìîûîû †vþü ›)œÄ = 165 Ýþy„þy
120. (a) 2021 ¢yöìœîû Corruption Perceptions Index x %̃ëyëû#

¦þyîûöì“þîû îûÄyBþ £œ 85Ð ²Ìí› ßþiyöì̃  îûöìëûöìŠé övþ˜›y„Åþ–
!šþ˜œÄyuþ ~î‚ !˜vþz!‹œÄyuþÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

——————


